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The average velocity V__ is defined as E
e ¢ g The volume flow rate is the volume of

fluid flowing through a cross section
per unit tfime.

the average speed through a cross

section
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FIGURE 5-7

Conservation of mass principle for a
two-inlet—one-outlet steady-flow
system.
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Under steady-flow conditions, the fluid properties at an inlet or exit
mass and energy contents of a control remain constant (do not change with

volume remain constant. time ).
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A heat exchanger can be as simple as
two concentric pipes.
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Charging of a rigid tank from a supply
line is an unsteady-flow process since
it involves changes within the control
volume.



FIGURE 5-44

The shape and size of a control
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